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(For the candidates admitted from‘ 2012-13 onwards)
B.Com. DEGREE EXAMINATION, APRIL/MAY 2018.
Fourth Semester
‘ BUSINESS STATISTICAL DECISION TECHNIQUE
| (Common for B.Com. (CS))

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

il Define matrix.

Sjawfl euenrwimy.

2.  What do you mean by adjoint?
ey ojenfl eramugen QUIMmET wimg;?

3.  Write the formula for binomial expansion.

rotiyé Caraneuuden GaHrseams er(pgs.



10.

What is mean by geometric progression?
Qups@s Qs Grs'o'rg).rreb eTEIE?

State multiplicative theorem on probability.
Hspsseiean AumEso CHHMHD - eUeTLDI.
Definition classification.

s ILHS55D UTeINOESEMILD H(Hs.

What is an LPP?

LPP erenpmed eremenn?

Define optimal solution.

2§10 STeneu UL

When does a transportation problem has a unique
solution?

qLOurs e Curs@arss sasdng GGr &ray
[NGEGG

What is called an assignment problem?

@UILIEHLLIL| SERTEE CTeDITed GTEuT6uT?
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12.

(a)

(b)

(a)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

Find the value of determinant :

i 2 g
Sa=diik
490
L

1 2 3
3 -2 1/|-éroafsCarencuuden LSIIL| smeums.
14 2 1)

Or

Solve the equation by Crarmer's methods :
x+y+z=-1

x+2y+3z=-4

x+3y+4z=-06.

SAymoi apeperw LwaLBSS Siés :
x+y+z=-1

x+2y+3z=-4

x+3y+4z=-6.

Find the sum of all integer between 200 and
500 which are divisible by 7.

200&@Ww 500&@LW @enrL Ll L CTERTSHEIT 6V
7-2e QUGUOILD ranTaeten sal (b Leva STEHTS.

Or
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Find three number in G.P. whose sum is 14. (a) Use graphical method to solve the LPP :
21 and whose product is 216. Maximize : Z = 100x, + 40x,

Rm QuUBsEs Czmm auflensuded e Subject to 5x; + 2x, <1000
raurgeflan &l L Ueer 21 LHOID  DiGer , 3x; +2x, <900
Qu(psse Ler 216 erafle SABS (PETH 6TETEHET x, + 2%, <500
GTaneU ?

and %, %, = 0.

Three horses A, B, C are in race. ' Crflwe S L s samsHlenar cuanTLL (pen STés :
BuQuiisrés@s : Z =100x, +40x,
sl(puur@ser  5x;, +2x, <1000

3x; +2x, <900

A is twice as likely to win as B and

B is twice as likely to win as C. What are
their respective probability of winning? %, +2x, <500
HMID X, Xy = 0.
e GHarser A, B wpmib C @@ upswsslen
o aremerr. A-@en Geupdl eumiiy B-er Geupm Or

amiiy  Gurmeny @wLmsrse|b, B-uler (b) Explain the formulation of a LPP.
Qeupdl eumitiy, C-an Geupdl eumiLienars Crflwe HlL s sawsdlear amplil permenwl
Curer QuLmsrsa|bd, @@Lider A, B whmib RIS

C-wler Qaup il eumiinaparer Hlapsse, ereme?
15. (a) Solve the transportation problem by using

Or NWCR.
A B C D E Supply
State and prove addition theorem on P 2,31 304 & |E 4
probability. Q o W, ek R 8
ekt S aq R 3 848 12 9
Blapsseipsrear gl L Cappsms erpdl Hlemal. SOV e s
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CuréEeurssl
edfenwis uweT(HSE ETdseib.

R

Caeneu

sasdlanar Ul Gna

ELPENED

A B C D E d&fiCGurswd

2 VI (1) B 5 R

0 4 7 1

3 9 4 12

3 3 4 6
Or

4

8

(b) Solve the transportation problem by using
least cost method available.

A B C Available

P

Q
R

Demand 10 10 10

1
0
3

2
4
1L

6
2
5

7
12
11

Epsaar_ CUTEGITSS SaTsSamear GoDHS
Qaaail () ey epaid Siés.
A B C @@y

P

Q
R

1
0
3

2
4
1

6
2
5

Ggeneu 10 10 10

7
12
15|
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S

SECTION C — (8 x 10 = 30 marks)
Answer any THREE questions.

Solve :

2x +4y+2z2=5
x+y+2z=6 by matrix inversion method.
2x+3y+2z=6

Cpiorpm @iawfl epaw LweaTLBSS! Erés.
2x+4y+z=5

X+y+2=06

2x+3y+2=6

The following table gives the normal weight of a
baby during the six months of life.

Age : 0823 "5 6

Weight: 5 7 8 10 12
Estimate the weight of a baby at the age of 4
months by Lagrange method.

@m Gwboslar  awg wHpmd e SC
Qar@&siul(hererg).
awugl: 0 2 3 5 6

5.7 8 10 12
Qavgprangpdlufden pepenws LweTURSE BrenG WIS
gL W Ghasulern areL e samssl (s,

oTemL_ :
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18.

The probability of 3 students A, B, C solving a
problem in mathematics are 1/2, 1/3 and 1/4. A
problem is given to all 3 students. What is the
probability that : |

(@) No one will solve the problem.
(b)  Only one will solve the problem.
(c) Atleast one will solve the problem.

ey wremeuiser A, B wpmd C sawée Siey
aramugHerer Hlapsse) wpanGu 1/2, 1/3 wpmib 1/4.
R HETEES, (LPeUHEEGD QaTHés Ll LT

(=) @meumwd Siey srerriod Cureagpstar Bspsse,

GTGOTGOT?

() e@meut wLLEL &ifey sramushHsTar Hspssal

GTGUTEUT?

(@) Gonpss @EHeuCrab &fe| sraTUSHSTET
HlapsEe6, eTeen?
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19.

20.

Use simplex method to solve LPP :
Maximize : Z = bx; + Tx,
Subject to : 4x, +3x, <12

3x, +4x, <12

%3220

Siblietsev evpewls LweauBsd Coflue il s
sasSmans Srése, b ;
BuQum : Z = 5x; +7x,
sl(uur@hser : 4x; +3x, <12

3, +4x, <12

Xy, %, 20

Solve the following wunbalanced assignment
problem of minimizing total time for doing at
Job's.

My 6. 20458502116
M: 2 B.8 T 7
My 7 & 6 9 8
My 6 2 3 4 5
M:- 9 3 879"
M¢é 4 7 4 6 8
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SpsasarTL.  FoWHD QUL LI

samsdlan B

pepeow Lwea(sd Crrsenswd, Geumaeenwiujd

@55 (H Celiwiab. . ,

Ji dJ2 Js Ja
M: 6 2 &5 2
M: 2 5 8 7
Ms 7 8 6 9
Ms 6 2 3 4
Ms 9 3 8 9
M¢e 4 7 4 6

10

Js

0 3 v 06 3 O
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